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27 July 2022
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Mohit.. 1 day ago ° simran Lalwani 1 day ago
‘5_ -’ Thank-you Madam for today's Very Amazing Class S Homework answer Shubham jatwa 1 day ago
And 1.A 1-A
My Answers for today's Homework are like- 2D 2D
1). Option A... Thank you mam nice session
Read more £ CF  REPLY o 9 REPLY
b &P  REPLY Nitika Kamboj 1 day ago
Nabanita De 1 day ago A
debasish chakraborty 1 day ago : H.W-Option A,Option D.thank u maam. D
Homework :
1. A o 7  REPLY gy GP  REPLY
2.D
. Nitika Gupta 1 day
Thank you mam. Awesome session. ° ik Bupta Tday a0
Homework
b &P REPLY 78. Option A
79. Option D
Nadeem 1 day ago
b 5P  REPLY

£ Homework " Wi
@ Ans 78 :- Option A

@ Ans 79 - Option D m MAHAK SABLANI 1 day ago

% Thank you Mam & & 3 78:-A
79-D

@b SP  REPLY

@y GP  REPLY
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Studythe following information carefully and answer the questions given below.

| Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

78) What is the code for ‘E1 PAO’?
a) ‘68#T6’

b)’68#T @’

C)'1@#TE’

d‘@8#@ %

e) None of these
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Studythe following information carefully and answer the questions given below.

 Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

79) What is the code for ‘AN H O S*?
a)‘43<@T

by @3<@T’

c)T3I<@T

d)‘T3I<@4’

e) None of these


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ “

Studythe following information carefully and answer the questions given below.

 Letter | ---- |V

Digit /
Symbol
code

DIf the first and the last letters are vowels both are coded as the first letter code.
[1)1f the first letter is vowel and the fourth letter is consonant both codes are interchanged.

[1D)If the second letter is a consonant and the last letter is vowel both are coded as the last letter code

80) What is the code for ‘Q MW K I’?
a)‘721*8

b) 781*8

C)‘718*8

d)712*8

e) None of these
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Eight persons Sushi, Suha, Srini, Suthir, Shaurya, Sam, Sugi and Subi are living in eight different
floors of the building such that lowermost floor is numbered as 1 and the floor above 1 is numbered
as 2and so on, and the topmost floor is numbered as 8. All the above information is not necessarily in
the same order.

Suha lives in 5th floor. Two persons lives between Suha and Subi. Shaurya lives just above Sushi.
Two persons lives between Sushi and Sam. Sam lives in even number floor above Suha. Number of
persons lives above Suthir is as same as number of persons lives below Sugi. Srini lives above Sugi.

378 Afad , X, /9, Gt 3R Gl FHRT & TS SrenT-SrenT Hivrell # 39
RE AT %%mﬁ nﬁmaﬁmﬁaﬁnﬁwaﬂnﬁaﬁmz%aﬁ?
mﬂ%%wﬁms%wﬁmmmwélmvmmwﬁm
vrand |

It afore & da el aafqd M gt & St
ﬁﬁgﬁiﬁ?ﬁn%mal ﬁaﬁ aw mﬁamal mﬁﬂw Eq%ﬁ%%?%él?
ngﬂaglﬁwm % wﬁmﬁmﬁwﬁw$
SR
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Eight persons Sushi, Suha, Srini, Suthir,
Shaurya, Sam, Sugi and Subi are living In eight
different floors of the building such that
lowermost floor is numbered as 1 and the floor
above 1 Is numbered as 2and so on, and the
topmost floor i1s numbered as 8. All the above
Information Is not necessarily in the same order.

Suha lives in 5th floor. Two persons lives between
Suha and Subi. Shaurya lives just above Sushi.
Two persons lives between Sushi and Sam. Sam
lives in even number floor above Suha. Number
of persons lives above Suthir i1s as same as
number of persons lives below Sugi. Srini lives
above Sugi.
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48.How many persons lives between Srini and 46.Who lives immediately above Subi?
subi? i R &t & i fva- safaa ved gt & S HW DI T 82
a7 a Shaurya
One b) Sushi
b) TwO ¢ Suha
¢ Three d) Sam
d) Four e) None of these

e) None of these Floors | Persons

DENETT
47.\What is the sum of Floor number of Srini and Sugi?
I- Sam

sﬁﬁr 3R T @t wforer = &1 IR |1 82
5 [sune |
_ ) Eleven
Sushi ¢ Eight
bi d) SiX
e) None of these
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5 Jswwr |
© Jsm

o [shauma

49 Which of the following is correct? g A & P19 AT T8l 872

50.What is the floor number of Sugi and Suthir respectively?

m Tt 3R GRR @t wfore = w1 32

Sam lives on 1st Floor

Suha L.ives two floor above Shaurya

Srini lives just above Suthir

Only |

Only I and 11
Only 111

Only Il and 11

None of the statement is correct

Six and Seven
One and Eight

even and Six
Four and Eight
None of these
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y &1 HioTe T @ U 3t g1 S1h HuR

& dd BT BT

¥g- ard B Afvra W=y, T |
dT AT T =="co

Ten persons-P,Q, R, S, T,U,V, W, X, and Y are living in
the five-storey building with floors numbered 1 to 5
from bottom to the top but not necessarily in the same
order. Each floor has two flats labeled as flat A and flat
B from west to east respectively. No two people live in
the same flat. P lives two floors above S, where both of
them are living in the same type of flat. S lives on an
odd number floor. U lives north-east of S but does not
live on the even-number floor. W lives immediate
north-east flat of R. V lives south-east of R. The number
of floors between R and V is the same as the number of
floors between U and X. Neither X nor V lives in the
same type of flat. The sum of the floor number of R and
V is one less than the floor number of Q. The difference
between the floor number of U and R is one more than
the floor number of Y. The floor number of the one who
lives immediately above Y is thrice of the floor number
of T.
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Ten persons-P,Q, R, S, T,U,V, W, X, and Y are living in
the five-storey building with floors numbered 1 to 5
from bottom to the top but not necessarily in the same
order. Each floor has two flats labeled as flat A and flat
B from west to east respectively. No two people live in
the same flat. P lives two floors above S, where both of
them are living in the same type of flat. S lives on an
odd number floor. U lives north-east of S but does not
live on the even-number floor. W lives immediate
north-east flat of R. V lives south-east of R. The number
of floors between R and V is the same as the number of
floors between U and X. Neither X nor V lives in the
same type of flat. The sum of the floor number of R and
V is one less than the floor number of Q. The difference
between the floor number of U and R is one more than
the floor number of Y. The floor number of the one who
lives immediately above Y is thrice of the floor number
of T.
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- Who among the following person lives north of

X? a) V b) The one who lives west of W ¢) T d)
The one who lives south-east of Y e) P

As many floors above U is the same as the
number of floors below _ ?a)Sb) Xc)Qd) The
one who lives immediately above V e) The one
who lives east of T

& B B ]
£ & s ]
o B v ]
LI .

What is the sum of the floor number of P and W?
a)é6b)ac)8d)5e)7
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I L L

Who among the following persons live above Q?
I. The one who lives on 5th floor

Il.The one who lives north-east of X

ll. R

AV

a) Onlylandlll

b) Only lll and IV

c)Onlylandll

d) Only Il and IV

e) None of these

What is the direction of R with respect to Y? a) East b)
North-west c) West d) South-east e) North-east


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

S ="cOo

=

Eight persons viz. A, B, C, D, E, F, G and H were born on eight consecutive
years starting from 2003 to 2010, but not necessarily in the same order. The
consecutive alphabetically named persons don’t born consecutively.

G was born in a leap year. Only four persons were born between G and D
Who was born immediately before F. The number of persons born before F is
the same as the number of persons born after A. Only two persons were

born between A and B.

TS Afad U1 A, B, C, D, E, F, G 31X H BT 577 2003 I 2010 TP TIMGR TS du(
H g3 T, cifer I3l Tg1 fob St 64 H g1 @R UTigshA A 1A afer
AR UST-Tel s1d 8 |

S U o1y g § g1 AT | G 3NR D P S ad IR AR UST gL Y, ST F A
Sl T UaT 8T A1 F A Ugd Uc1 §Y afRial o) I©iT A F d1¢ UaT g¢ el
DI HBNT S U g1 A 3 B & &I &l Afed UgTgu A |
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Eight persons viz. A, B,C,D,E, F, G
and H were born on eight
consecutive years starting from
2003 to 2010, but not necessarily
in the same order. The consecutive
alphabetically named persons
don’t born consecutively.

G was born in a leap year. Only
four persons were born between G
and D Who was born immediately
before F. The number of persons
born before F is the same as the
number of persons born after A.
Only two persons were born
between A and B.



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ (@

If all the persons were born in aIphabet"
order, then how many persons remain
unchanged in their positions?

gfg gt saferral &1 5= quiigspH | gan g, i fova
i 3= |ITH TR arcrh-qﬁ?rw?r%'z

A.One

B.Two

C.Three

D.More than three

E.None

Who among the following person was born
two persons before G? fFafaf@aAAHTG A
Ugd gl sfadadl T o< gaiT UT?

A =
B.B
C.F

D.No such person
E.None of these
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Who among the foIIowin% person was
born in 20057 fAuferRad | ¥ few sufda &
S 2005 U §3IT UT?

A.E

B.F
C.C
D.H
E.Cannot be determined

How many persons were born between B
and C?

B 3k C & o9 fral afay Uar gu 47
A.One

B.Two
C.Three
D.More than three
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Eight persons are worklng in a company with different grade position such as CEO, MD, GM,
DGM, Senior Manager, Manager, Assistant Manager and Clerk. Their positions are given in
descending order, such as CEO as the highest position and Clerk as the lowest position. B is
a manager. Two persons are hold a position between A and B. More than four person are
hold a position between C and H. As many person senior to C is same as that of junior to D
who is junior to H. E is junior to F and senior to G. G is not clerk
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Eight persons are working in a company
with different grade position such as
CEO, MD, GM, DGM, Senior Manager,
Manager, Assistant Manager and Clerk.
Their positions are given in descending
order, such as CEO as the highest
position and Clerk as the lowest
position. B is a manager. Two persons
are hold a position between A and B.
More than four person are hold a
position between C and H. As many
person senior to C is same as that of
junior to D who is junior to H. E is junior
to F and senior to G.G is not clerk.
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an¥ persons have hlgher grade position than C?

Ifeddl BT IS US 3 22

a) Two

b) Four

c) Three

d) One

e) C holds the highest position

Who is General manager?
HETUS YD P 872

a) C

b) F

c)G

d)D

e)A
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What is the grade position of D?

D B Us fRUfT =T 82

a) Senior Manager

b) Clerk SBI

c) Assistant Manager

d) Cannot be determined
e) None of these

How many persons are hold a position between
Band A?

B 3R A & o9 H fpa sl 96 82

a) One

b) Four

c) Three

d) Two

e) None of the above
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625 427 189 258 469

What is the sum of the 3rd digit of second number from left and 2nd dlﬁlt of third

numberfromrlght?aﬁﬁmm%mw\iﬁ?ﬁﬁ '\‘I@T%W
3 BT YN T 82
(a) 10 (b) 15 (c) 14 (d) 12 (e) None of these

What is the product of 3rd digit of 2nd lowest number and 1st digit of 2nd highest number?

gﬂﬁmﬁ@ﬁm%?ﬂﬂ%waﬁvgﬂﬁmaﬂm%mwm
UGS T 872

(a) 32 (b) 72 (c) 24 (d) 36 (e) None of these
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625 427 189 258 469

If 2 is subtracted from each number then how many numbers thus formed are odd nhumbers?

gfe Y Ser # 9 2 veT faar oY af 39 YR o+ arell fba-i d@id faus

HWTT B2
(a) One (b) Two (c) Three (d) More than three (e) None

If the position of first and third digits of each of the numbers are interchanged, then which

among the following is the highest number? H%Wﬂw%ueﬁ GﬁTW 3B B
R &1 ATIY § ged fear o, af fFaferfad # 9 999 9 9@ &4 d 82

(a) 258 (b) 469 (c) 189 (d) 427 (e) 625
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Eight persons F, G, P, R, M, N, Vand T live in
eight different floors. Lowermost floor is
numbered 1, above the floor is numbered 2, and
so on till the topmost floor is numbered as 8.
Each of them is in a different profession. Their
professions are Lawyer, Teacher, IAS, Student,
Doctor, Accountant, Commissioner and Manager.
All the above information is not necessarily in
the same order.M lives on even numbered floor.
The one who is an Accountant lives on the
second floor. Two persons live between R and
the one who is a student. R lives on even
numbered floor but above M. Three persons live
between G and the one who is an IAS. M is not
an accountant. As many persons living above the
one who is a doctor is same as below the one
who is a student. Only one person lives between
T and the one who is a teacher. The one who is a
lawyer lives immediately below N. As many
persons living below N is same as above the one
who is a teacher. The one who is a commissioner
lives immediately above M. Neither Fnor Vis a
lawyer. F lives above V.

AEPR, aﬁvuﬁw%’mﬁaﬁ%m
it SHI FHH B
M HH HBT aTeit HioTd U= Y8 dT & | 98 fad Sl Uh
AETPR g, g1 AT R IBATB | R 3T TP B &b
da Y Afad Igd 8 | R TH T dreil HivTd U Iga1 8
Sfh M & FHUR IBAT 8 | G 3R TP I1As Tk & S
daafdaEd | M.ﬁwq%%lﬁaﬁw%
S
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Eight persons F, G, P, R, M, N, V and T live in eight
different floors. Lowermost floor is numbered 1, above the
floor is numbered 2, and so on till the topmost floor is
numbered as 8. Each of them is in a different profession.
Their professions are Lawyer, Teacher, IAS, Student,
Doctor, Accountant, Commissioner and Manager. All the
above information is not necessarily in the same order.

M lives on even numbered floor. The one who is an
Accountant lives on the second floor. Two persons live
between R and the one who is a student. R lives on even
numbered floor but above M. Three persons live between G
and the one who is an IAS. M is not an accountant. As
many persons living above the one who is a doctor is same
as below the one who is a student. Only one person lives
between T and the one who is a teacher. The one who is a
lawyer lives immediately below N. As many persons living
below N is same as above the one who is a teacher. The
one who is a commissioner lives immediately above

M. Neither F nor V is a lawyer. F lives above V.
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Who among the following person is a 8]G [Manager |
student?

s @ [R_[oecar
frafufad 9 3 o9 8= 82
A) F
B) N 7 [V Aot
QP L

D)V
E) None of these
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>

Which of the following statement is true?
Fafrfea S FIH T HYTIa 82

A) The one who is a doctor lives below M

B) Two persons live between F and the one who is a doctor

C) As many persons live above G is same as below P

D) More than three persons live between P and the one who is a
commissioner

E) Both (c) and (d)

S L
TR oo

7 [ Accoumant
TP JGwer
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How many persons live between F and the one who is an IAS?

F 3R U IAS Afad & ad fodq aafad Igd 872 o

A) One

B) Two G [R [Docer |

C) Three
4 - IAS

D) Four bl

E) None of these 7 [N | Accountant |
L
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If G is related to commissioner, T is related to Accountant, in the
same way, M is related to which of_the follow

%mg}mﬁa% T AQHR | H&iid 8, ig'\g’—i)mm Fufafead A

A) IAS

B) Teacher

C) Manager

E) None of these 6 [R|Doctor |

Commissioner

B
[P (e
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Who among the following person lives immediately below the one who is
a doctor?

° Ao 7
Tﬁ@aﬁﬁﬁqw%mﬁm%. e f
B) R FR (oo
C)T
D)V v

uaen
E) None of these 2 [N | Accountant |
B
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Bne morning after sunrise, Suresh was standing facing a pol
The shadow of the pole fell exactly to his right. To which

direction was he facing?

s qaied & 91 U O™ & ATHA GST 4TI @™ Bl
m%ma%ﬁgﬁmu@mwmmﬁaﬁ?m?

1

A) East B) West

) South D) Data is inadequate

E) NONE OF THESE
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Statement:

Only a few chemicals are pesticides.
Some pesticides are medicines.
Some medicines are Computer

Conclusion:
I. All chemicals can never be medicines.
Il. At least some chemicals are Computer.
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Statements:
Only a few Boxes are Book
All Books are Pens

Conclusions:
. Some Boxes are Pens
Il. All Pen can never be Boxes
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Read the following information carefully and answer the questions given below.

Eight persons I, J, K, L, M, N, O and P are sitting around a circular table. Two
of them facing outwards and rest are facing towards the centre but not
necessary in the same order.

O sits third to the left of M. The immediate neighbours L are facing outwards.
K sits second to the right of J and is facing outwards. N sits to the immediate
right of I and sits fourth to the left of J. P, who is an immediate neighbour of J,
sits second to the left of 1. L is an immediate neighbour of J and K. M is an

immediate neighbour of K.

ﬁuﬁr@amﬁwﬁﬁmﬂngu%aﬁ?ﬁﬁ% T YT & I G
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Read the following information carefully and answer
the questions given below.

Eight persons I, J, K, L, M, N, O and P are sitting
around a circular table. Two of them facing
outwards and rest are facing towards the
centre but not necessary in the same order.

O sits third to the left of M. The immediate
neighbours L are facing outwards. K sits second
to the right of J and is facing outwards. N sits
to the immediate right of I and sits fourth to
the left of J. P, who is an immediate neighbour
of J, sits second to the left of I. L is an
immediate neighbour of J and K. M is an
immediate neighbour of K.
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Who among the following sits third to the right of N?
Frafifad # A o19 N & 3 @ fR "M R §31 82
a)P

b) O

c)L

d) K

e)M

How many persons are sitting between M and J, when counted
in anticlockwise direction from M?

M ¥ qrTad =M # M1 IR M 38R 1 & Ay fhaq aafad 98 872

a) Three

b) Four

c) Five

d) Two

e) One
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Who among the following is an immediate neighbour of both P
and I?
fFrafaReaa 9 &4 P 3R I giHi &1 Adean usit 872
a)N
b) K
c)L
d) O
e)]
Four of the following five are alike in a certain way and hence form a group. Which one
of the following that does not belong to the roup?
T 1 Q1% T P 8 @ WA € 9% ST v we S 31 Pt § @
ﬁqu@rwf‘uaqé’r%
a) PL
b) KN
c) IM
d) JK
e) ON
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